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1.   20,000 + 3000 + 40 + 5 =  

a) 20,345  b) 23,045  c) 23,450 

2.   Which digit is at the thousandth place of 56,565?   

a) 6   b)  5  c) 8 

3.   The value of 3 in the number 38,700 is  

a) 300,000  b) 3000  c) 30,000 

4.   Which of the following number has 7 at ten-thousandth place? 

a) 726,850  b) 267,850  c) 276,850 

5.   Which digit is at the hundred thousandth place in the number 540,244? 

a) 2   b) 5   c) 4 

6.   The value of 9 in the number 234,769 is  

a) 9   b) 900  c) 900,000 

7.   In which number, 5 has the value of 5000?  

a) 52,909  b) 870,521  c) 135,271 

8.   The digit 3 in the number 534,767 stands for  

a) 30,000  b) 3000  c) 300,000 

9.   Which digit is at the hundred thousandth place of 901,452?   

a) 1   b) 0   c) 9 

10.   The expanded form of the number 500,004 is  

a) 500,000+4 b) 500,000+40 c) 50,000+400 

11.   Which of the following number has 5 at hundreds place?  

a) 67,345  b) 203,502  c) 26,266 

12.   Three hundred and fifty nine thousand, four hundred and seventy eight  

a) 359,478  b) 35,948  c) 395,487 

Place Value of 5 & 6 Digit Numbers  

WORKSHEET#4 

Choose the correct answer. 
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1) b 

2) a 

3) c 

4) c 

5) b 

6) a 

7) c 

8) a 

9) c 

10) a 

11) b 

12) a 

 

ANSWERS 


